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1. [rank 8] Describe a succinct encoding of a binary tree, comment on its space occupancy, and show how it can be navigated downward starting from the root.
2. [rank 6+6] Given the string S = abbabaa, construct the BWT of S, and then show how search for P=ab into it via the backward search of FM-index.
3.  [rank 10] Just execute one of the following different of the topic of the project you’ve chosen, or you’ll choose.

a. Let us given the strings S = {abac, abra, bacco, bei, acat}, show the structure of a Ternary Search tree built by inserting them in alphabetic order. 
b. Describe how you can use the LSH-technique to detect the similar groups among a set of n vectors of L bits each, commenting on its space and time efficiency.
